[ Efficiency vs vertpos |
- 0.2

©0.18F oo o
e F : : 5
O e e ;
[5) I : : ]

{0 NI <ERTERRRP ELRRPRIES R
o | : : :

R e ol
O MRt b} 0
0.08F -+ P By :
O R

0.04%: """"" IARREEE #*+ :
* | & .. : . = .
0'02: + : ++*=f= : :

ok o Bl ]
o i ; : :
B 414 : L
o

st LL LB LR BT

0.8t :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit1000_RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFit1000ATime RECO

0.8

N C
o - : : : : :
> 0.7F------ ) EERERETITLTERLS CECELRLELSTRTERE e
%) - . . . . .
z E : : : : :
& 0.6F------ Horperedeeeeeee Beeeenee ERREEPIES Beeeee
c o : : : : :
[} o : : : : :
(8] ... [ T L [
g OSp i
o E : : : : :
0.4F----- 8 B R R P
T RN -
S 1 - -
Y R
E : v : :
o O:....!....I+.+¢.".'.'..F'\.I‘*.$ﬂl....!....
=R S o4it : 0 |1
o F : : i : :
0.9f------ 0 I R O
85 —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

0
1

Ratio

0.9

0.8

0-86-4-20 2 4 6 8 10
Sim. PV z (cm)

07



	Contents
	Page 1


